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2019(Odd) Old Syllabus
Time : 3Hrs. Sem. V/E.E
Ins. Com. & Main.
Full Marks : 80

Pass Marks : 26
Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |
Answer all Five questions from Group C, each question

carries 8 marks.

7u-C 4 wft ufg 9ol & SR <, UAS U &1 99 8 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10.

Raa iR ¥ @f s el &1 SUAT = foar (if)
ST 2° Wil ddl @ IO &I ARAT I |

A 80KVA, 3phase alternator is directly coupled to
a prime mover and is to be installed in a workshop.

State the process for making a suitable foundation (iii)

for it.

Udh 80 doHlol, dwel ydad® Ya UISH
Hax 9 A" gRaa @ va 54 srferssifa
foar s 2| 3w fog vo Suyaa fiq
frior 2q fafr &1 fored |

(iif)

OR (312r1an)

Describe a method for determination of insulation (iv)

resistor with a neat sketch.

sl UfeRIe o1 &) 8q Ua fafer &1
quiq w@=s faa @ o1 & |

3 20501

ST B BT ol Fhdl 2 |

(31) wqfaa e 9 99 9 gRT

@) ld & «didl & FIsS Bl JADH B
(@) wqfaa ve—@T g™I

(%) Swiaa g+

Corrective maintenance is needed when:
(a) Equipment fails

(b) Equipment running

(c) Equipment produces noise

(d) None of these

IRf¥ed IREAVT BY ATaTAHAT gt B
Gl'a_

(31) SUBRT B B STCT 2

(3) SUDRVT TATIHT a3l ¥ Il 8
(¥) SUBROT IR U~ Bl &

(]) 399 & HIg T2l

According to fuse law, the current carrying
capacity varies as:

(a) Diameter

(b) (diameter)'”

(c) (diameter)"?

(d) 1/diameter

P.T.O
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Answer all Five Questions.

gy ufg g & SR ©

7.

8x5=40

What are the causes of vibration occurring during
operation of electric machine? How it can be

minimized?

faga wefia & arq s@een ¥ $ud 81 @
T ROT 2?7 39 DA HA {HAT ST Ghal 2 |

OR(372rd)

Explain the method of maintenance for a d.c.

machine in your laboratory?

I gARTeer § fose Rt 7efiF & 3rRevr
@ fafer &1 e & |

What do you understand by electrical maintenance
and repair ? What are its fundamental

requirements ? 8

0T5023

(vi)

(vii)

(vii)

(viii)

5 20501

fd W R & FARe&r 3q

aftafad aR® 28—

(31) Al &T WX dAT dcl & oflbol Bl
NIk

CORKGECICIIRC L

(@) fagaRieh gfoRie & S S

(2) SWida g+

Power factor of arc in a circuit breaker is:
(a) Always Zero

(b) Always one

(c) Always leading

(d) Always lagging

s gRuel fazessd 7 e &1 Afad
VT BIAT 2—

(31) e =

() A gbIg

(&) e U

(2) &em ofT

The earth wire should be :

(a) Good conductor of electricity

(b) Mechanically strong

(c) Both (a) and (b)

(d) Mechanically strong but load conductor
of electricity

P.T.O
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4.

Why earthing resistance is kept low? Explain

sfefar uferie & o < ~@r sian 2 1
ATET BN |

OR(37214T)

What points are to be noted during inspection of

an overhead line from ground? Explain.

RRIUR a9 @ 9 9 A& @ 9w w0
T Ieol@ HIAT USdl 27 GHSIY |

Why circuit breaker is used in the electric circuit.

4
fagra uRueyr # wAfeve dHx &1 ITINT Tl

far wrar 21

OR (3121an)

What are merits and demerits of belt drive. Explain.

0T5023

(x)

(xi)

(xi)

(xii)

7 20501

TH R

@) yrr: B9 9k ¥ YEdT @

@) oo IR ¥ T BT B

(@) Jge R § HH T Ear @
(?) »o R 4 S LT Bl ©

Draw-in system of laying underground cables

has the drawbacks of

(a) Higher cost

(b) Reduced current carrying capacity of the
cables

(c) Requirements of much deeper and wider
trenches

(d) All of the above

ISR UTS~8 dgal dl qfH A safRera
P @ fog ygaa gr—sa—9vell & =
qY 2 |

(31) S=a dIHd

(@) DYl D GRT 984 HHAT DI TSHT

(@) sftre TR gE AlS SEl B AaT—DAT

(%) Swiaa g+

Which motor should not be used for centrifugal
pumps

(a) Shunt

(b) Series

(c) Differential Compound
(d) Cumulative Compound

P.T.O



O'L'd

| R 1kSM ko
| lodad Ikb & 12 kR[E b lklak bBp)

urefdxy ¢ouryoewt

[e01109]0 ur Surjreds JO sasned Ay} dIe JBYM

(lpr)AO

| 8 Iblin Ikd)
Ik le|Rh 1d LedjRb b lky2h @loh

"souIyORW SUIIBI0L U PIsn A1k SSuLIedq Ay

| Lel2 1klbdd

Blio (B klb—b|d ph B Bl b M3bho

| @ Lklbdd Iebllakejd | M2 IMRDID]

S |pRpB (RE (& 22|b 0€Z ‘Bbllabale 0€ &

(,991A13s ur )1 Sumnd
210J9q w10}12d NOK prnom s)sd} JeyA\ POUOISSIWUTOD

9q 01 st z030w “O°p paseydnd Aimau A 0€Z ‘dH 0 V

(lpriR) MO

10S0T €1 €20SLO

Jojowr SNOUOIYOUAS ()

Jojow uononpur 33ed [a1unbg (9)

Jojow punom punodwod aanemnwmd ' (q)

Joyow junys D ()

SI S[[rw SuI[[oI dY} JOJ PAYNS JSoq
‘SONSLIORIRYD JUSISYUL )T 0) SULMO JOJOW Y],  (Arx)

DR @ WPhink (2)
L (b) pd (1) (B)
DR @ LRk L3l (b)
M) @ ke ke & lnph (k)
-2 b2
BB Ljeb) B Uk RIb itk @ bk (119

udysuans of, (p)
(q) pue (&) pog ()
Suruuni ypoows 10, (q)
UOIJOLJ QWOJIIA0 OF, ()
auryoew
oy Jo syed Sunejor Yim payoene are Suueag  (11X)

0lmd bRRRe (b)
S=plht [PR2efRhe) (1)
Yoty (k)
2k (k)
—R 1Bl kY| Bk
ikl heh RERhSR (& Ml 1B ke ()

£€20SLO 8 10S0T



20501 12 0T5023

xx) fodl uRuer fae8ed &1 Iy faror
I YTd: BT 2 |
(31) BB fAe
@) &% dos
(|) ®v =
(]) U dlecd &I B dh

GROUPB

Answer all Five Questions.

Il ufg yol & SR o

4x5=20

2. What is necessity of foundation for installation.

G o g S a1 AaTASdT 2 |

0T5023

(xiv)

(xv)

(xv)

(xvi)

9 20501

Alex B AU g7_v~<C AT B HIRYT
RferT A & fag w99 e Suygad @
(@) . v AR

@) S1L sRfed pUKSS 7 AR
(W) Reara &< 9RoT #Hiex

(]) geaaiferd #lex

Before commissioning of an alternator stator
and rotor windings are made dry:

(a) By providing heat

(b) By providing sun light

(c) By short circuit method

(d) None of these

JAEd® &I HIRIHT & gd X ud
e Hread B FETIT SITdT 28—

(31) a9 IHR

@) g & gty 4

(|) org uRuer fafer |

(€) 379 4 BIg 7Ll

Cylindrical rotor in alternator has
(a) Less number of poles

(b) Large number of poles

(c) Medium number of poles

(d) None of these
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